
 

 

PM SHRI KENDRIYAVIDYALAYA NO.1, DHANBAD 

HOLIDAY ASSIGNMENTS (AUTUMN BREAK-2024-25) 
 SUBJECT:- ACCOUNTANCY CLASS:- XII COMM. 

ACCOUNTING FOR PARTNERSHIP - FUNDAMENTAL 

1. Anthony a partner was being guaranteed that his share of profits will not be less than ₹ 
60,000 p.a. Deficiency, if any was to be borne by other partners Amar and Akbar equally. For 
the year ended 31st March, 2024 the firm incurred loss of ₹ 1,80,000. What amount will be 
debited to Amar’s Capital Account in total at the end of the year? 

A. ₹ 60,000 B. ₹ 1,20,000 

C. ₹ 90,000 D. ₹ 80,000 
 

2. Assertion: Partner’s current accounts are opened when their capital are fluctuating. 
Reasoning: In case of Fixed capitals all the transactions other than Capital are done through 
Current account of the partner. 

A. Both A and R are true and R is the correct explanation of A. 

B. Both A and R are true but R is not the correct explanation of A. 

C. A is true but R is false 

D. A is false but R is true 
 

3. The profit earned by a firm after retaining ₹ 15,000 to its reserve was ₹ 75,000. The firm had 
total tangible assets worth ₹ 10,00,000 and outside liabilities ₹ 3,00,000. The value of the 
goodwill as per capitalization of average profit method was valued as ₹ 50,000. Determine the 
rate of Normal Rate of Return. 

A. 10 % B. 5 % 

C. 12 % D. 8 % 
 

4. Ikka, Dukka and Teeka were partners sharing profits and losses in the ratio of 2:2:1. Their 
fixed Capital balances were ₹ 5,00,000; ₹ 4,00,000 and ₹ 3,00,000 respectively. For the year 
ended March 31, 2024 profits of ₹ 84,000 were distributed without providing for Interest on 
Capital @ 10% p.a as per the partnership deed. While passing an adjustment entry, which of the 
following is correct? 

A. Teeka will be debited by ₹ 4,200 B. Teeka will be credited by ₹ 4,200 

C. Teeka will be credited by ₹ 6,000 D. Teeka will be debited by ₹ 6,000 
 

5. Rahul, Samarth and Ayaan were partners sharing profits and losses in the ratio of 5:4:3. 
Ayaan’s fixed Capital balance as on March 31, 2024 was ₹ 2,70,000. Which of the following 
items would have affected this Capital balance? 

A. Profit/Loss for the year B. Additional Capital introduced 

C. Reduction in Capital due to Capital 
Adjustment 

D. Both B and C 

 

CHANGE IN PROFIT SHARING RATIO OF EXISTING PARTNERS 

1. Joey, Sam and Tex were partners sharing profits and losses in the ratio 5:3:2. W.e.f 01 April, 
2024 they decided to share future profits and losses in the ratio 2:1:1. For which of the 
following balances Tex will be credited at the time of reconstitution of firm, if the firm decided 
to continue with available accumulated profits and losses balances. 



 

 

A. General Reserve ₹ 2,00,000 and Profit and Loss (Dr.) ₹ 1,20,000 

B. General Reserve ₹ 2,00,000 and Profit and Loss (Cr.) ₹ 2,50,000 

C. Deferred Revenue Expenditure ₹ 50,000 and Profit and Loss (Cr.) ₹ 80,000 

D. Deferred Revenue Expenditure ₹ 50,000 and Profit and Loss (Dr.) ₹ 80,000 
 

ADMISSION OF A PARTNER 

1. At the time of admission of new partner Vasu, Old partners Paresh and Prabhav had debtors 
of ₹ 6,20,000 and a provision for doubtful debts (PDD) of ₹ 20,000 in their books. As per terms 
of admission, assets were revalued, and it was found that debtors worth ₹ 15,000 had turned 
bad and hence should be written off. Which journal entry reflects the correct accounting 
treatment of the above situation? 

A  Bad Debts A/c Dr. 
 To Debtors A/c 

 15,000  
15,000 

  Prov for D. debts A/c Dr.  
To Bad Debts A/c 

 15,000  
15,000 

 

B  Bad Debts A/c Dr. 
 To Debtors A/c 

 15,000  
15,000 

  Revaluation A/c Dr.  
To Provision for 2oubtful Debts A/c 

 15,000  
15,000 

 

C  Revaluation A/c Dr.  
To Debtors A/c 

 15,000  
15,000 

 

D  Bad Debts A/c Dr.  
To Revaluation A/c 

 15,000  
15,000 

 
 

OR 
Ram and Shyam were partners sharing profits and losses in the ratio of 3:2. Their balance sheet 
shows building at ₹ 1,60,000. They admitted Mohan as a new partner for 1/4th share. In 
additional information it is given that building is undervalued by 20%. The share of loss/gain of 
revaluation of Shyam is ____________ & current value of building shown in new balance sheet 
is _______. 

A. Gain ₹ 12,800, Value₹ 1,92,000 B. Loss ₹ 12,800, Value₹ 1,28,000 

C. Gain ₹ 16,000, Value₹ 2,00,000 D. Gain ₹ 40,000, Value₹ 2,00,000 
 

ANS.:- C – Gain ₹ 16,000, ₹ 2,00,000 

2. Rohit, Virat and Shikhar were partners sharing profits and losses in the ratio 3:1:1. Their 
Capital balance as on March 31, 2024 was ₹ 3,00,000; ₹ 2,70,000 and ₹ 2,50,000 respectively. 
On the same date, they admitted Hardik as a new partner for 20% share. Hardik was to bring ₹ 
80,000 for his share of goodwill and 1/5 of the combined capital of all the partners of new firm. 
What will be the total amount brought in by Hardik on his admission as a new partner? 

A. ₹ 2,25,000 B. ₹ 1,80,000 

C. ₹ 2,60,000 D. ₹ 3,05,000 
 

3. String and Kite were partners sharing profits and losses in the ratio 5:3. They admitted 
spinner as a new partner. String sacrificed ¼ from his share and Kite sacrificed 1/6 of his share. 
What will be the new ratio? 

A. 6:5:5 B. 9:5:10 



 

 

C. 15:10:7 D. 35:21:40 
 

OR 
Amit and Kartik are partners sharing profits and losses equally. They decided to admit Saurabh 
for an equal share in the profits. For this purpose, the goodwill of the firm was to be valued at 
four years' purchase of super profits.  

The Balance Sheet of the firm on Saurabh's admission was as follows: 

Liabilities  Amount  Assets  Amount  

Capital Accounts:- 
Amit:   90,000 
Kartik: 50,000 
Creditors 
General Reserve 
Bills Payble 

 
 
1,40,000 
5,000 
20,000 
25,000 

Fixed Assets (Tangible) 
Furniture 
Stock 
Debtors 
Cash  

75,000 
15,000 
30,000 
20,000 
50,000 

The normal rate of return is 12% p.a. Average profit of the firm for the last four years was 
₹30,000. Calculate Saurabh’s share of goodwill.  [3 marks] 

Ans.:- Or Capital of Firm = 1,40,000+20,000 (Reserve) = ₹1,60,000 Normal Profit = 1,60,000 x 
12/100 = ₹19,200 Average Profit = ₹30,000 Super Profit = Average Profit-Normal Profit = 
30,000-19,200 = ₹10,800 Goodwill = 4 (Super Profit) = 4 (10,800) = ₹43,200 Saurabh's share of 
Goodwill = 1/3 of 43,200= ₹14,400. 

RETIREMENT OF A PARTNER 

1. Bat, Cat and Rat were partners sharing profits and losses in the ratio 5:3:2. Cat retired and on 
that date there was a balance of Investment of ₹ 4,00,000 and Investment Fluctuation Reserve 
of ₹ 1,00,000 was appearing in the balance sheet. Pass necessary journal entries for Investment 
Fluctuation reserve in the following cases. (i) Market Value of Investments was ₹ 4,80,000. (ii) 
Market Value of Investments was ₹ 3,80,000. (iii)Market Value of Investments was ₹ 2,90,000. [ 
3 marks] 

Meghna, Mehak and Mandeep were partnersin a firm whose Balance Sheet as on 31st March, 
2023 was as under:    [ 6 Marks] 

Balance Sheet 

Liabilities  Amount  Assets  Amount  

Creditors 
General Reserve 
Capital Accounts:- 
Meghna:    20,000 
Mehak:      14,500 
Mandeep : 10,000 
 

28,000 
7,500 

 
 
 

44,500 

Cash  
Debtors 
Stock 
Furniture 

27,000 
20,000 
28,000 

5,000 

80,000 80,000 

Mehak retired on this date under following terms:  
(i) To reduce stock and furniture by 5% and 10% respectively.  
(ii) To provide for doubtful debts at 10% on debtors.  
(iii) Goodwill was valued at `12,000.  
(iv) Creditors of Rs.8,000 were settled at Rs.7,100.  
(v) Mehak should be paid off and the entire sum payable to Mehak shall be brought in by 



 

 

Meghna and Mandeep in such a way that their capitals should be in their new profit-sharing 
ratio and a balance of Rs.25,000 is maintained in the cash account.  
Prepare Revaluation Account and partners’ capital accounts of the new firm. 

DEATH OF A PARTNER 

OR 
A, B and C were partners sharing profits and losses equally. B died on 31 August, 2023 and total 
amount transferred to B’s executors was ₹ 13,20,000. B’s executors were being paid ₹ 1,20,000 
immediately and balance was to be paid in four equal semiannual instalments together with 
interest @ 10% p.a. Total amount of interest to be credited to B’s executors Account for the 
year ended March 31, 2024 will be? 

A. ₹ 70,000 B. ₹ 67,500 

C. ₹ 60,000 D. ₹ 77,000 
 

2. A, B and C were partners sharing profits, and losses in the ratio of 2:2:1. C died on 1st July, 
2023 on which date the capitals of A, B and C after all necessary adjustments stood at ₹74,000, 
₹ 6,750 and 42,250 respectively. A and B continued to carry on the business for six months 
without settling the accounts of C. During the period of six months from 1 -7-2023, a profit of ₹ 
20,500 is earned using the firm’s property. State 3 which of the two options available u/s 37 of 
the Indian Partnership Act, 1932 should be exercised by executors of C and why?. 

3. X, Y and Z were partners sharing profits and losses equally. Y died on 1st October, 2023 and 
total amount transferred to Y’s executors was ₹ 15,60,000. Y’s executors were being paid ₹ 
3,60,000 immediately and balance was to be paid in four equal quarterly instalments, together 
with Interest @ 6% p.a. Pass entries till payment of first two 4 instalments. [ 4 Marks] 

DISSOLUTION OF A PARTNERSHIP FIRM 

1. Rama, a partner took over Machinery of ₹ 50,000 in full settlement of her Loan of ₹ 60,000. 
Machinery was already transferred to Realisation Account. 
How it will effect the Realisation Account? 

A. Realisation Account will be credited by  
₹ 60,000 

B. Realisation Account will be credited by  
₹ 10,000 

C. Realisation Account will be credited by  
₹ 50,000 

D. No effect on Realisation Account 

OR 
Dada, Yuvi and Viru were partners sharing profits and losses in the ratio 3:2:1. Their 1 books 
showed Workmen Compensation Reserve of ₹ 1,00,000. Workmen Claim amounted to ₹ 
60,000. How it will affect the books of Accounts at the time of dissolution of firm? 

A. Only ₹ 40,000 will be distributed amongst partner’s capital account 



 

 

B. ₹ 1,00,000 will be credited to Realisation Account and ₹ 60,000 will be paid off. 

C. ₹ 60,000 will be credited to Realisation Account and will be even paid off. Balance ₹ 40,000 
will be distributed amongst partners. 

D. Only ₹ 60,000 will be credited to Realisation Account and will be even paid off. 
 

2. At the time of dissolution Machinery appears at ₹ 10,00,000 and accumulated depreciation 
for the machinery appears at ₹ 6,00,000 in the balance sheet of a firm. This machine is taken 
over by a creditor of ₹ 5,40,000 at 5% below the net value. The balance amount of the creditor 
was paid through bank. By what amount should the bank account be credited for this 
transaction? 

A. ₹ 60,000. B. ₹ 1,60,000. 

C. ₹ 5,40,000. D. ₹ 4,00,000. 
 

3. Rusting, a partner of a firm under dissolution was to get a remuneration 2% of the total 
assets realised other than cash and 10% of the amount distributed to the partners. Sundry 
assets (including Cash ₹ 8,000) realised at ₹ 1,16,000 and sundry liabilities to be paid ₹ 
31,340.Calculate Rustings’s remuneration and Show your workings clearly. Also pass necessary 
journal entry for remuneration. 

ACCOUNTING FOR SHARE CAPITAL 

1. Forfeiture of shares leads to reduction of _________________Capital. 

A. Authorised B. Issued 

C. Subscribed D. Called up 
 

2. Mohit had applied for 900 shares, and was allotted in the ratio 3 : 2. He had paid application 
money of ₹ 3 per share and couldn’t pay allotment money of ₹ 5 per share. First and Final call of 
₹ 2 per share was not yet made by the company. His shares were forfeited. The following entry 
will be passed 
Share Capital A/c Dr.     X  
           To Share Forfeited A/c           Y  
           To Share Allotment A/c          Z 
Here X, Y and Z are: 

A. ₹ 6,000; ₹ 2,700; ₹ 3,300 B. ₹ 4,800; ₹ 2,700; ₹ 2,100 

C. ₹ 4,800; ₹ 1,800; ₹ 3,000 D. ₹ 6,000; ₹ 1,800; ₹ 4,200 
 

ANS.:- B- ₹ 4,800; ₹ 2,700; ₹ 2,100 

OR 
A company forfeited 6,000 shares of ₹ 10 each, on which only application money of ₹ 3 has 
been paid. 4,000 of these shares were re-issued at ₹ 12 per share as fully paid up. Amount of 
Capital Reserve will be _______. 
 

A. ₹ 18,000 B. ₹ 12,000 

C. ₹ 30,000 D. ₹ 24,000 
 

3. Shares issued as sweat equity can be (I) Issued at par. (ii) Issued at discount. (iii) Issued at a 
premium. Which of the following is correct? 



 

 

A. Only (i) is correct. B. Both (i) and (iii) are correct. 

C. All are correct. D. Only (ii) is correct. 
 

Or 
4. A company forfeited 8,000 shares of ₹ 10 each on which ₹ 8 were called (including ₹ 1 
premium) and ₹ 6 was paid (including ₹ 1 premium). Out of these 5,000 shares were reissued at 
maximum possible discount. Pass necessary journal entries.  [3 marks] 

A company forfeited certain number of shares of Face Value ₹ 10 each, for nonpayment of final 
call money of ₹ 4. These shares were reissued at a discount of ₹ 5 and amount of ₹ 4500 was 
transferred to capital Reserve account. Pass the necessary journal entries to show the above 
transactions and prepare Share forfeited account. [ 4 marks] 

K.N. Ltd. invited applications for issuing 6,00,000 equity shares of ₹10 each at a premium of ₹3 
per share. The amount was payable as follows: On Application and Allotment - ₹3 per share; On 
First Call -₹4 per share; On Second and Final Call — Balance (including premium). The issue was 
oversubscribed by 1,50,000 shares. Applications for 50,000 shares were rejected and the 
application money was refunded. Shares were allotted to the remaining applicants as follows: 
Category I: Those who had applied for 4,00,000 shares were allotted 3,00,000 shares on pro- 
rata basis. Category II: The remaining applicants were allotted the remaining shares. Excess 
application money received with applications was adjusted towards sums due on first call. 
Rakesh to whom 6,000 shares were allotted (out of Category I) failed to pay the first call money. 
His shares were forfeited. The forfeited shares were re-issued at ₹13 per share fully paid up 
after the second call. Pass necessary journal entries for the above transactions in the books of 
K.N. Ltd. [ 6marks] 

Balance Sheet (Extract) 
Of XYZEE ltd as at 31.03.2024 (as per schedule -III of Companies Act 2013) 

 Note no. 31.03.2023 31.03.2024 

I- Equity & Liabilities    

    
1. Shareholders Funds    

a). Share Capital 1 44,90,000 54,90,000 

b). Reserves and 
Surplus 2 2,00,000 3,60,000 

    
  

Note no.1 (For year ending 31.03.2024) 

Share Capital 

1). Authorised Share Capital  
8,00,000 Equity Shares of Rs. 10 each 80,00,000 

  
2). Issued Share Capital  

5,50,000 Equity Shares of Rs. 10 each 55,00,000 

(Out of these 40,000 shares were issued to the vendors as 
consideration for Capital asset purchased) 

 

3). Called Up Share Capital  



 

 

a). Called Up and Fully paid  

Rs.10 per share on 5,45,000 Equity Shares 54,50,000  

   
b). Called Up and not Fully paid  

Rs. 10 per share on 5,000 Equity shares 50,000  

Less not paid: Rs. 2 per share on 5,000 Equity 
shares 

 
-10,000 

 
54,90,000 

Note no. 2 - Reserves and Surplus 

 31.03.2023 31.03.2024 

Capital Reserve Nil 40,000 

Securities Premium 2,00,000 3,20,000 

 
During the year the company took over the business of Quipa Ltd. with Assets of Rs. 12,00,000/- 
and Liabilities of Rs.7,30,000. Purchase consideration was paid in cash and by issue of equity 
shares at par. The entire transaction resulted in Capital reserve of Rs.40,000. 
 

Q1. What is the total face value of Shares issued for Cash by the Company during the year 
2023-24. 

A). Rs.10,00,000 B). Rs. 6,00,000 
C). Rs. 9,50,000 D). Rs. 11,20,000 

Q2. Shares issued for cash during the year were issued at  . (assuming they were issued 
together)? 

A). Rs.10 B). Rs.8 
    C). Rs.12 D). Rs.11.20 

Q3. On April 1, 2024, the company forfeited all the defaulting shares. What amount will 
appear in the Share Forfeiture account at the time of forfeiture? 

A). Rs.40,000 B). Rs. 50,000 
C). Rs.10,000 D). Rs. 60,000 

Q4. What will be the number of Issued shares, as on April 1,2024, after the forfeiture of 
these shares? 

A). 5,45,000 shares B). 5,50,000 shares. 

C). 4,45,000 shares.     D). 5,05,000 shares. 

Q5. If 2,000 of the forfeited shares were issued at Rs. 14 per share, what will be the amount 
of securities premium and Capital reserve respectively as on April 1, 2024? 

A). Rs, 3,20,000, Rs.40,000 B). Rs.3,28,000, Rs.56,00 

C). Rs.3,28,000, Rs.80,000 D). Rs.3,20,000, Rs.80,000 

Q6. What will be the amount in the "Called up and Fully paid" subhead after the reissue of these 
2000 shares? 

A). Rs.54,50,000 B). Rs.55,00,000 
C). Rs.54,70,000 D). Rs.54,80,000 

 

ACCOUNTING FOR DEBENTURES 



 

 

1. Moon ltd. issued 40,000, 10% debentures of ₹100 each at certain rate of discount and were 
to be redeemed at20% premium. Exiting balance of Securities premium before issuing of these 
debentures was ₹12,00,000 and after writing off loss on issue of debentures , the balance in 
Securities Premium was ₹2,00,000. At what rate of discount these debentures were issued? 

A. 10% B. 5% 

C. 25% D. 15% 
 

2. On 1st April 2019 a company took a loan of ₹80,00,000 on security of land and building. This 
loan was further secured by issue of 40,000, 12% Debentures of ₹100 each as collateral 
security. On 31st March 2024 the company defaulted on repayment of the principal amount of 
this loan consequently on 1st April 2024 the land and building were taken over and sold by the 
bank for ₹70,00,000. For the balance amount debentures were sold in the market on 1st May 
2024. From which date would the interest on debentures become payable by the company? 

A. 1st April 2019. B. 31st March 2024. 

C. 1st April 2024. D. 1st May 2024 
 

3. Buddha Limited took over assets of ₹ 40,00,000 and liabilities of ₹ 6,50,000 of Ginny Limited. 
Buddha Limited issued 30,000, 8% Debentures of ₹ 100 each at 10% discount, to be redeemed 
at 5% premium along with cheque of ₹ 5,00,000. Pass necessary journal entries in the books of 
Buddha Ltd. [3 Marks] 

OR 
a) Pass the necessary journal entries for ‘Issue of Debenture’ for the following: i. Arman Ltd. 
issued 750, 12% Debentures of ₹100 each at a discount of 10% redeemable at a premium of 
5%. Ii. Sohan Ltd. issued 800, 9% Debentures of ₹100 each at a premium of 20 per debenture 
redeemable at a premium of ₹10 per Debenture.  
b) X Ltd. obtained a loan of ₹4,00,000 from IDBI Bank. The company issued 5,000 9%. 
Debentures of ₹100 each as a collateral security for the same. Show how these items will be 
presented in the Balance Sheet of the company. [ 6 Marks] 

PART-B Analysis of Financial Statements 

1. When an analyst analysis the financial statements of an enterprise over a number of years, 
the analysis is called                           analysis. 

A). Static B). External 

C). Horizontal D). Vertical 
 

2. Find the heads and sub-heads under which the following items will appear in the balance 

sheet of a company as per Schedule III, Part I of Companies Act, 2013? [3 Marks] 

a) Furniture and Fixture 
b) Advance paid to contractor for building under construction 
c) Accrued Income 
d) Loans repayable on demand to Bank 
e) Employees earned leaves payable on retirement 

Employees earned leaves encashable. 

3. Complete the Comparative Statement of Profit and Loss: [ 3 Marks] 

Particulars 2022-23 2023-24 Absolute 
change 

% 
change 



 

 

Revenue from 
Operations 

16,00,000 20,00,000 ? ? 

Less: Employees 
Benefit 

Expenses 

8,00,000 ? ? 25% 

Less: Other 
Expenses 

2,00,000 ? (1,00,000) ? 

Profit before tax 6,00,000 ? ? 50% 

Tax @30% ? ? 90,000 ? 

Profit after tax 4,20,000 ? 2,10,000 ? 
 

 

 



 

 

PM SHRI KENDRIYAVIDYALAYA NO.1, DHANBAD 

HOLIDAY ASSIGNMENTS (AUTUMN BREAK-2024-25) 
 SUBJECT:- BUSINESS STUDIES CLASS:- XII COMM. 

NATURE AND SIGNIFICANCE OF MANAGEMENT 

The General manager of a reputed organisation, Mr. Agastaya Lokhande, made the following 
announcement at the Annual General Meeting of the company- “When we think of a brand, we think 
of reputation, but the reputation is made or broken by the quality of products and customer 
representation. If people are miserable, they can't give their best work and the brand suffers. On the 
contrary, positive results can be observed if there is job satisfaction, effective and efficient 
functioning.”    [4 MARKS] 
(I) Identify and explain the feature of management discussed by Mr Agastaya in his announcement. 
(II). Explain any three reasons that make management important to any organisation. 

PRINCIPLES OF MANAGEMENT 

(1). Leena has been appointed as the Operations Manager in a small trading company dealing in 
garments, with growing online sales. The company has recently rented space in a warehouse to store 
garments and mail out orders. In order to take over the responsibilities of order fulfilment, Leena 
promotes an associate, Kushagra to the post of Inventory and Order fulfilment Supervisor. Kushagra 
has been given the task to assess whether it is best to process orders as they come in or let them 
accumulate and then to process them in batches. He concludes that accumulating and then processing 
them in batches is the best way of fulfilling orders, in order to minimise cost and maximise customer 
satisfaction. 
Through several readings Leena finds that the standard time taken from the placement of order to the 
delivery of garments for a batch of 100 pieces is 72 hours. This helped her to determine the labour 
cost. 

On the basis of the understanding of concepts of scientific management, identify and explain the 
techniques used by Leena and Kushagra to improve the performance of the employees. [6 MARKS] 

BUSINESS ENVIRONMENT 

(1).   A. Goodwill Enterprises is a large 
         B.  automobile manufacturer, who fulfills the needs of both industrial users -scale satisfaction 
Develops a sense of security amongst and consumers. The company is providing easy finance facilities 
at a low rate of interest, which has considerably increased the demand for the product. The company 
has installed a new branch management software to efficiently manage and coordinate activities 
across their multiple branches and locations. 
Identify the components of the business environment from the above case study.      [1 MARK] 

A. Political and economic environment 

B. Economic and social environment 

C. Technological and legal environment 

D. Economic and technological environment 
 



 

 

(2). Match the statements given in column I with the characteristic of business environment given in 
column II:    [1 MARK] 

 COLUMN I  COLUMN II 

(a) Increased dmand of Khakhra and Thepla in 
the region of Gujrat compared Delhi region 

i Uncertainty 

(b) Digital academic certificates are issued to 
students accessible in a secured manner to 
eliminate undesirable practices like 
corruption and manipulation of records 
under Digital India Initiative. Such 
technological improvements are happening 
at a very fast pace. 

Ii Dynamic 

(c) Fashion market is facing both opportunities 
and challenges. Therefore it is difficult to 
predict the future of the fashion market. 

Iii Relativity 

(d) A new government will result in changing 
government rules, fiscal policies, market 
conditions etc. 

iv Interrelatedness 

Choose the correct option from the following: 

A. (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv) B. (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv 

C. (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii) D. (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv) 
 

(3).Mr Vivek Vaswani, a foodpreneur combined his passion for food with his entrepreneurial skills and 
started his innovative fast food outlet OH CHILLI! in 2021. He had started his career as a food blogger 
and had noticed that numerous Indian consumers were looking for reasonable and pure vegetarian fast 
food options for dining out. The high end restaurants were not opted by many as they were 
exorbitantly priced. Though many global fast food chains were running across the country, yet not many 
outlets offered reasonable and healthy pure vegetarian fast food options to consumers. OH CHILLI! 
became a pioneer in offering a healthy and delicious variety of food. 
What came as a surprise for consumers was that even without using onion or garlic in the pasta sauce, 
marinade and ketchup ,the food could actually taste great. The company witnessed an increase in net 
profit of 26% in its second financial year and became a market leader. 
(I) State the concept of business environment. 
Identify and explain in what way, a good understanding of business environment enabled Mr. Vivek 
Vaswani to improve the performance of the enterprise. [ 3 MARKS] 

PLANNING 

(1). State the meaning of single use plans and standing plans   [3 MARKS] 
OR 

State how planning 
(I) reduces creativity 

(II) leads to rigidity. 

(2). When Chandrashekhar Shukla returned to India after completing a Certificate course in Food 



 

 

Quality Assurance and Quality Control from the Netherlands, he was convinced that he would fulfil his 
grandfather's dream of converting their 58 acre land into a fertile farm. He started by setting out 
specific goals and laid down related activities to be performed to achieve the goals. Soon he launched 
his own company ‘Food and Agribusiness Solutions Private Limited’. 
He sought to ensure that the future events effectively meet the best interest of the company. He 
prepared an annual statement for production and sales, based on sales forecasting. He noticed that 
the farmers grew only paddy due to which land remained idle for the subsequent 8 to 9 months of the 
year. He identified and assessed various alternatives through which farms could be utilised for the 
remaining months of the year. 
Through his accurate vision, judgement and systematic thinking based on analysis of the facts, he 
presented a scheme to the farmers where both paddy and vegetables could be grown. 
Identify and explain the features of one of the functions of Management highlighted above.  [4 MARKS] 

ORGANIZING 

1. Jasmine Ahluwalia is the manager of an artefacts museum's marketing team, responsible for 
promoting exhibitions and events. In the previous season, she defined the total work of managing the 
events into graphic designing, registration inquiries, bill payments, etc, in order to facilitate 
specialisation. However, instead of allocating work, she had assigned each team member the full 
responsibility of managing the promotion of an entire event. Inspite of holding regular team meetings to 
take feedback, Jasmine found problems throughout the events season in the quality of graphic design, 
registration inquiry, bill payments, etc,. For the upcoming events season, Jasmine has decided to divide 
these responsibilities on the basis of her observation of the areas in which the individual team members 
have excelled in the previous season and allocate the roles based on their skills and competencies. 
Identify the step in the organising process which was not properly performed in the previous season but 
has been duly performed for the upcoming season. [1 MARK] 

A. Identification and division of work B. Establishing reporting relationships 

C. Departmentalisation D. Assignment of duties 
 

(2). Differentiate between functional structure and divisional structure on the basis of:   [6 MARKS] 
(I) Formation 
(II) Specialisation 
(III) Responsibility 
(IV) Managerial development 
(V) Cost 
(VI) Coordination 

OR 
‘Delegation helps a manager to extend his area of operations as without it, his activities would be 
restricted to only what he himself can do.’ 

In light of the above statement, explain how effective delegation helps the organisation in achieving 
objectives.   

STAFFING 

(1). Choose the statement that correctly highlights the benefit of using external sources of recruitment.  
[1 MARK] 

A. Competitive spirit among the existing staff 

B. Reduction in employees turnovering staff 



 

 

C. Helps in increasing employees 

D. Employees 
 

(2). ‘Joining a job marks the beginning of socialisation of employees at the workplace. The employee 
should be given a post for which he has been selected.’ 
Place the subsequent steps of staffing in a small organisation in the correct order:       [1 MARK] 

A. Training and development, promotion and career planning, performance 
appraisal, compensation 

B. Performance appraisal, training and development, promotion and career planning, 
compensation 

C. Training and development, performance appraisal, promotion and career planning, 
compensation 

          D. Training and development, performance appraisal, compensation, promotion and    career 
planning 

(3). Shiwakumar runs a legal consultancy firm in Chhattisgarh. Whenever the firm hires new 
employees, on the first day of joining, they are welcomed to the organisation and are given details 
about the dress code, lunch timings, introduction to daily operations and fellow colleagues. They are 
also familiarised with the organisational policies and procedures, emergency exits, evacuation 
procedure, etc.        [1 MARK] 
Name the type of training which is provided by Shiwakumar in his firm.  

A. Apprenticeship training 
B. Vestibule training 
C. Induction training 

      D. Internship training 

(4). In order to streamline the selection procedure, so as to minimise the margin of errors, certain 
tests are carried out that attempt to measure the characteristics of individuals. Explain any four such 
tests. [4 MARKS] 

OR 
Since jobs have become more complex, the importance of employee training has increased. Training 
programmes provide numerous benefits to workers. Explain any four points that support this 
statement. 

DIRECTING 

Explain the concept of leadership. Give two situations in which autocratic leadership style is most 
effective.  [3 MARKS] 

OR 
Explain the concept of communication. Give the meaning of formal and informal communication. 

When Bhaanupriya joined as technical head of Logic Lotus Innovators, she was keen on increasing the 
productivity and profitability of the company. However, she observed that the employees were 
demotivated as no attention was given to their work. Also, the workers were given little freedom to 
make decisions. [4 MARKS] 
Bhaanupriya decided to stimulate the employees by giving each worker T- shirts with their name on it. 
She also decided to include workers in work committees. This helped in improving the performance of 
the workers. 
(I) On the basis of the understanding of Maslow’s Need Hierarchy Theory of motivation, identify 



 

 

the human need that Bhaanupriya has recognised in order to make the subordinates act 
towards achievement of organisational goals. 

(II)      Identify and explain two incentives that have been provided by Bhanupriya to  improve the 
performance of the employees. 

CONTROLLING 

(1). Read the following statements: Assertion (A) and Reason (R). Choose the correct alternative 
from those given below:   [1 MARK] 
ASSERTION (A): Controlling can prevent deviations. 
REASON (R): Controlling helps in minimising deviations by taking actions and decisions that reduce 
their recurrence. 

A. Both Assertion (A) and Reason (R) are true and Reason is the correct explanation of Assertion. 
B. Both Assertion(A) and Reason (R) are true and Reason is not the correct explanation of 

Assertion. 
C. Assertion (A) is true, Reason (R) is false. 

          D. Assertion(A) is false, Reason(R) is true. 

(2). Spiceworks, a company providing financial services to its clients is keeping a close check on the 
employee’s activities by using biometric and retina scanning as modes of accessing the office premises, 
in order to ensure greater security of information in the organisation. 
Choose the correct point of significance of controlling highlighted above: 

A. controlling helps in achievement of organisational goals 
B. controlling helps in ensuring order and discipline 
C. controlling helps in improving employees motivation 
D. controlling enables optimum utilisation of resources 

(3). Explain how Planning and controlling are both backward looking, as well as forward looking 
functions.   [4 MARKS] 

OR 
The first step in the controlling process is setting up performance standards. Explain the subsequent 
two steps in the process of controlling. 

FINANCIAL MANAGEMENT 

(1). Read the following statements: Assertion (A) and Reason (R). Choose the correct alternative from 
those given below: 1 2 Assertion(A): Financial Planning aims at enabling the company to tackle the 
uncertainty in respect of the availability and timing of the funds. Reason(R): Capital structure refers to 
the mix between owners’ and borrowed funds Alternatives :  [1 MARK] 

A. Both Assertion (A) is false and Reason (R) are true 

B. Both Assertion (A) and Reason (R) are false. 

C. Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of 
the Assertion. 

D. Both Assertion (A) and Reason (R) are true, and Reason (R) is the correct explanation of 
the Assertion. 

 

(2). Identify the incorrect statement with respect to ‘Investment decision’: [1 MARK] 
A. Net working capital refers to excess of current assets over current liabilities 
B. Current assets are those assets which get converted into cash within one year 
C. Capital budgeting decisions are irreversible. 



 

 

         D. Size of the assets, Profitability and competitiveness are not affected by capital budgeting 
decisions 
(3).Identify the decision which is not taken under financial management. [1 MARK] 

A. Dividend Decision 
B. Capital Budgeting Decision 
C. Pricing Decision 

     D. Both B. and C. 

(4). What are the factors that affect financing decisions?   [1 MARK] 
(a) Cash flow position of the company 
(b) Stability of earnings 
(c) Degree of financial risk 
(d) Contractual constraints 
(e) State of capital market 
(f) Level of competition 
Choose the correct alternative from the following: 

A. (b), (c) and (f) 
B. (d), (e) and (f) 
C. (a), (c) and (d) 

     D. (a), (c) and (e) 
(5). Read the following statements carefully:   [1 MARK] 
Statement I: Cost of debt is lower than cost of equity for a company. 
Statement II: The objective of financial management is to increase shareholder’s wealth. 
In the light of given statements, choose the correct alternative from the following: 

A. Both the statements are true. 
B. Both the statements are false. 
C. Statement I is true, Statement II is false. 

      D. Statement II is true, Statement I is false. 

(6). From the following information regarding Aditya Ltd. which is in the business of manufacturing 
green tea, calculate the Return on Investment and Interest Coverage Ratio of the company: (Show 
working)   [3 MARKS] 
Earning before interest and tax ₹ 15,00,000 
10% debentures ₹ 12,00,000 
Equity Share Capital (₹10 each) ₹ 18,00,000  
Tax Rate  40% 

FINANCIAL MARKET 

1. Read the following statements carefully: Statement I: Secondary Market directly promotes capital 
formation. Statement lI: Capital market deals in medium and long term securities such as equity shares 
and debentures. In the light of given statements, choose the correct alternative from the following: [1 
MARK] 

A. Both the statements are true. 

B. Both the statements are false. 

C. Statement I is true, Statement II is false. 

D. Statement II is true, Statement I is false. 
 



 

 

2. It was established by the Government of India on 12 April 1988 as an interim administrative body to 
promote orderly and healthy growth of the securities market and for investor protection. It was given 
statutory status in 1992 through an Act of Parliament. 
(I) Identify the regulatory body which has been highlighted above. 
(II) State the three objectives of the regulatory body identified in part (I). 

State any two functions that are performed for the development of the securities market by the 
regulatory body identified in part (I). [6 MARKS] 

MARKETING MANAGEMENT 

(1). The process of classification of products into different groups, on the basis of some of the important 
characteristics such as quality, size, etc. is known as: 

A. Branding 
B. Standardisation 
C. Grading 

       D. Marketing planning                                                       [1 MARK] 

(2). Explain the four elements of marketing mix.   [6 MARKS] 
OR 

Explain any four factors affecting determination of the price of a product or service. 

(3). Give any four points of difference between advertising and personal selling. [4 MARKS] 

CONSUMER PROTECTION 

                                           
 

Identify the responsibility that a consumer fulfills when he looks for the quality marks given above: 
A. Assert yourself to ensure that you get a fair deal 
B. Getting a proper receipt 
C. Buy only standardised products 
D. Be honest in your dealings 

State Commission has the jurisdiction to entertain complaints where value of goods and services paid 
as consideration is   

A. More than ₹1 crore and not more than ₹ 5 crore 
B. More than ₹10 crore 
C. Less than ₹1 crore 

         D. More than ₹1 crore and not more than ₹10 crore 

Identify the incorrect statement with respect to Consumer Protection in India. 
A. It not only includes educating consumers about their rights and responsibilities but also helps 

in getting their grievances redressed 
B. It not only requires a judicial machinery for protecting the interest of consumers but also 



 

 

requires the consumers to get together and form themselves into Consumer associations for 
protection and promotion of their interests. 

C. It is the moral duty of any business to take care of consumers' interest and avoid any form of 
exploitation. 

The provisions of Consumer Protection Act came into force from 1981. 

Consumers can ask anything regarding the date of manufacturing, MRP, etc, about the product that he 
intend to buy. 
Identify the consumer right highlighted in the above lines. 

A. Right to be informed 
B. Right to be assured 
C. Right to be heard 

     D.  Right to safety 
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SUB- CHEMISTRY 

 
        Complete the following holiday homework : 

1. Write investigatory project in project file 
2. Complete the given questions from alcohol Phenol and either 
3. Make the floor diagram of haloalkanes haloareins and alcohol phenol and ether 
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Indian Economics – 
Ch -1 Indian Economy on the eve of independence  
Ch-2 Indian economy 1950 -1990  
Ch- 3 Liberalisation , privatisation , and Globalisation  
Practice all (NCERT) questions 
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SUB- MATHS 

 
 

1.SOLVE 10 QUESTIONS TYPE WISE  EACH EXERCISE OF CHAPTER 
Integration,Ch.Matrices Ch. Determinant 5 questions fromCh Application of 
Derivatives,Applicatiocns of Integration and make yourself confident by 
revising these questions 
 
2.Complete 5 activities in Practical Copy 
 
3.Make any one Project Work on one Mathematician 
 
4.On a chart paper write all formulae using Sketch Pens 
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SUB- PHYSICS (042) 

 
1. The value of alternating emf E in the given circuit will be 

                      
a)100 V.      b)20 V.      c)220 V     d)140 V 

2. The power factor of LCR circuit at resonance is 
A)0.707     B)1       C)Zero          D)0.5 

3. A 50 mH inductor is connected to a 200 V, 50 Hz AC supply. Determine the rms value of 
the current in the circuit. 
A)12.74 A  B)13.57 A  C)11.5 A   D)9.53 A 

4. A variable frequency 230V alternating voltage source is connected across a series 

combination of L=5H, C=80μF  and R=40Ω. Calculate Angular frequency of the source which 

drives the circuit in resonance. 

5. A series LCR circuit with R=20Ω, L=1.5H and C=35μF is connected to a variable frequency 

200V ac supply. When the frequency of the supply equals the natural frequency of the 

circuit, what is the average power transferred to the circuit in one complete cycle? 

6. A 100 turn closely wound circular coil of radius 10 cm 

carries a current of 3.2 A. (a) What is the field at the centre of the coil? (b) What is the 

magnetic moment of this coil? The coil is placed in a vertical plane and is free to rotate 

about a horizontal axis which coincides with its diameter. A uniform magnetic field of 2T in 

the horizontal direction exists such that initially the axis of the coil is in the direction of the 

field. The coil rotates through an angle of 90º under the influence of the magnetic field. (c) 

What are the magnitudes of the torques on the coil in the initial and final position?  

7.(a) A current-carrying circular loop lies on a smooth horizontal plane.Can a uniform 

magnetic field be set up in such a manner that the loop turns around itself (i.e., turns about 

the vertical axis). (b) A current-carrying circular loop is located in a uniform external 

magnetic field. If the loop is free to turn, what is its orientation of stable equilibrium? Show 

that in this orientation, the flux of the total field (external field + field produced by the loop) 

is maximum. 



(c) A loop of irregular shape carrying current is located in an external magnetic field. If the 

wire is flexible, why does it change to a circular shape? 

 

 

8. In the circuit (Fig. 4.27) the current is to be measured. What is the value of the current if 

the ammeter shown (a) is a galvanometer with a resistance RG= 60.00 Ω; 

 (b) is a galvanometer described in (a) but converted to an ammeter by a shunt resistance rs= 

0.02 Ω; (c) is an ideal ammeter with zero resistance? 

 

                                                              

9. A circular coil of wire consisting of 100 turns, each of radius 8.0 cm carries a current of 

0.40 A. What is the magnitude of the magnetic field B at the centre of the coil? 

10. A long straight wire carries a current of 35 A. What is the magnitude of the field B at a 

point 20 cm from the wire? 

 

 


